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unfatr means.

Q1. a) Explain how the all-day efficiency differs from the commercial efficienc '
what application of a transformer, the all-day efficiency assumes more npp_ ar
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Q3 a) Explain the V-curve of synchronous motor.
b) What are various methods of starting a synchrondus

¢) A three-phase, star connected, 1-MVA,
winding per phase is 0.45 Q. The test‘“'
OC Test: Field current = 120.5, A
SC Test: Field current = 120.5 .
Determine the full-load Voltage 0
(ii) 0.8 power factor lagggng

V:oitage between the lines =422 V
¢ Line current = 50 A
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Q4 a) Give the reason for the followmg in induction motor:

(1) The speed of: an in uctlon ‘motor can never be the same as the synchronous spe
(i1) The mductlonﬁmetor can be called a generalized rotating transformer.
(iii) The valu&of}sllp orrespondmg to maximum torque increases with rotor resistance.
(iv) The sfart' gtorque increases on increasing the rotor resistance.
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A* 6=ﬁ016, 3-phase, 50-Hz induction motor with star-connected rotor has the rotor resistance of 0.4 Q per
ﬁhase and the rotor standstill reactance of 1.7 Q per phase. When the motor is at standstill, the emf
between the slip-rings on open circuit is 175 V. If the motor runs at a speed of 960 rpm, find (i) the slip,
and (ii) the rotor emf per phase. (2)



